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33. Independent variable is the x axis TIME
Dependant variable is y axis is POPULATION

34. Left: exponential
Right: logistic

35. Survivorship is the percentage of remaining survivors of a population over time; usually shown graphically. 
    Type I survivorship curve: most individuals live out their  life span and die of old age 
(e.g., humans). 
    Type II survivorship curve: 
individuals die at a constant rate (e.g., birds, rodents, and perennial plants). 
     Type III survivorship curve: 
most individuals die early in life
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